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LXX
BC = ∫

o

b( x2/b2 ) b2 1/EJ dx = [1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = (1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 ) b2 1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = ( b - b +1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
CD = ∫

o

b(1 ) b2 1/EJ dx = [ x ]
o

b
 b2 1/EJ 

        = ( b ) b2 1/EJ  =   b3/EJ

LXX
DC = ∫

o

b(1 ) b2 1/EJ dx = [ x ]
o

b
 b2 1/EJ 

        = ( b ) b2 1/EJ  =   b3/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 ) b2 1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = ( b - b +1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
ED = ∫

o

b( x2/b2 ) b2 1/EJ dx = [1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = (1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXo
BC = ∫

o

b(1/2 x/b ) Fb2 1/EJ dx = [1/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (1/4 b ) Fb2 1/EJ  = 1/4  Fb3/EJ

LXo
CB = ∫

o

b(1/2 -1/2 x/b ) Fb2 1/EJ dx = [1/2 x -1/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (1/2 b -1/4 b ) Fb2 1/EJ  = 1/4  Fb3/EJ

LXo
CD = ∫

o

b(-1/2 +1/2 x/b ) Fb2 1/EJ dx = [-1/2 x +1/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (-1/2 b +1/4 b ) Fb2 1/EJ  = -1/4  Fb3/EJ

LXo
DC = ∫

o

b(-1/2 x/b ) Fb2 1/EJ dx = [-1/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (-1/4 b ) Fb2 1/EJ  = -1/4  Fb3/EJ
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A =   175. mm2

Ju =  80057. mm4

Jv =  16674. mm4

Jt =  152.4 mm4

yo =  12.86 mm
yg =  30.04 mm
Ty =  -765. N
Mx = -558450. Nmm
xm =    11. mm
um =   -12. mm
vm = -30.04 mm
σm = -Mv/Ju = -209.6 N/mm2

xc =    23. mm
vc = -30.04 mm
σc = -Mv/Ju = -209.6 N/mm2

τc = TS*/tJu =   12.4 N/mm2

τg = TS*/tJu =   12.4 N/mm2

tc =   510. mm
σo = √σ2+3τ2 =  210.7 N/mm2

t=1.8 t=1.8t=
1

t=1.8 t=1.8
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